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27 6 26
a b c=a+b d c/d
21,922 9,206 31,128 28,406 109.6
4,519 1,506 6,025 4,594 131.2
8,160 1,253 9,413 9,465 99.5
4,599 0 4,599 5,030 91.4
39,200 11,965 51,165 47,495 107.7
333,569 19,533 353,102 | 337,959 15,143 45
51,026 0 51,026 45,931 5,095 11.1
137,200 1,384 138,584 | 138,154 430 0.3
38,672 5,564 44,236 41,388 2,848 6.9
19,100 878 19,978 22,708 2,730 12.0
19,572 4,686 24,258 18,680 5,578 29.9
156,300 2,262 158,562 | 160,862 2,300 1.4
294,369 7,568 301,937 | 290,464 11,473 3.9
62,656 0 62,656 61,735 921 15
39,200 11,965 51,165 47,495 3,670 7.7




